MVP MATH 2 Unit 5 Test Review Sheet Name: Q}\/%%(/

Simplify the radical:
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Write in exponent form:
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Write in radical form:
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Determine if the simplification is -i, i, -1, or 1.
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Describe the number and type of solutions, and sketch an example graph based on the
given DISCRIMINANT.
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Simplify the following:
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Simplify the following:
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List the most specific category (Natural, Whole, Real, Integer...etc.) for the following:
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List all of the categories (Natural, Whole, Real, Integer...etc.) for the following:
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Simplify completely. Do not leave negative exponents in your answer.
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Solve by either factoring, quadratic formula, or completing the square.
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Sketch a graph of solutions for:
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